

Prohibition Excise & Registration Department, Government of Bihar

First Party Name *

: ANIL KUMAR SINGH

Second Party Name *

: ANIL KUMAR SINGH

Purchased By *

: ANIL KUMAR SINGH

Cartificate Number

:BR038161381691998176473

Consideration Price

: ₹0.00/-

Stamp Duty Paid Registration Fee & Other Fees : ₹0.00/-

: 31,000.00/-

LLR & Proc Fee

: ₹0.00/-

Miscellancous Fees

: ₹0.00/-: ₹0.00/-

Discore SC Total Amount

: ₹1,000.00/- (One Thousand)





This stamp paper will only be valid if embassed below with special RED ink impression --

काले प्रायम 11-08-2023

मार्स सामार केर्न 10-05-202M

Phone No:

Sold To/Issued To:

For Shom/ID Proof:

DSROFFICE BANKA 832001





AUG-14-2023 18:00:23

0001000/-MENO ZERO ZERO ONE ZERO ZERO ZERO

38161381652018023570-00004655

reement No - 04 81 B2/2023 - 24

This agreement, made the day of between The Executive Engineer, Rural Work Department (Works) Division, Banka-1 (hereinafter called "the Employer") of the one part, and Anil Kumar Singh At-Bubutola, Anchal+Dist-Banka, Bihar, PIN- 813102 (hereinafter called "the Contractor") of the other part.

Whereas the Employer is desirou that the Contractor execute the Construction of Road & CD Works with maintenance under Road name Package No.- MR-N/23-24 Banka-1/01 (Tender ID-125730 & Bid II) - 54731-4) Year 2023-24 under M/R (3054) Yojna, Block-Shambhuganj, District- Banka. Bihar (h. reinafter called the contract) Chief Engineer-2 Rural work department, Bihar Patna Vide Letter No-2456 Encl, Dated 08.08.2023 and the Employer has accepted the Bid by the Contractor for the execution and completion of such works and the Routine maintenance of works for Five Years of the Contract Price remedying of any defects therein, at a Construction of cost of Rs. 3159790.00 (Rupees One Crore Thirty One Lakh Fifty Nine Thousand Seven Hundred Ninety Unity) & Maintenance of cost Rs. 3776332.00 (Rupees Thirty Seven Lakh Seventy Six Thousaid Three Hundred Thirty Two Only) with a Total Amount of Rs. 16936122.00 (Rupees time Crore Sixty Nine Lakh Thirty Six Thousand One Hundred Twenty Two Only) at bidder are quoted 10.00 % below the estimated cost. Anil Kumar Singh the contractor has deposited FD A/c No.- 17990310060490 Amount Rs. 706000.00, FD A/c No.- 17990310060483 Amount Rs. 847000.00, NOW THIS AGREEMENT WITNESSETH as follows:

मिल्नान्या विक

Divisional R.W.D.(W) Div. Banka-1

tive Engineer D. Works Division

- In this Agreement, words and expressions shall have the same meanings as are respectively assigned to them in the Conditions of Contract hereinafter referred to, and they shall be deemed to form and be read and construed as part of this Agreement.
- In consideration of the payments to be made by the Employer to the Contractor as hereinafter mentioned, the Contractor hereby covenants with the Employer to execute and complete the works and remedy any defects therein in conformity in all aspects with the provisions of the Contract and undertaking routine maintenance for five years.
- 3. The Employer hereby covenants to pay the Contractor in consideration of the execution and completion of the works and the remedying the defects wherein and undertaking routine maintenance for five years, the Contract Price or such other sum as may become payable under the provisions of the Contract at the times and in the manner prescribed by the Contract.
- 4. The following documents shall be deemed to form and be read and be read and construed as part of this Agreement, viz:
 - Letter of Acceptance;
 - ii) Notice to proceed with the works;
 - iii) Contractor's Bid:
 - iv) Contract Data;
 - V) Special Conditions of Contract:
 - vi) General Conditions of Contract:
 - vii) Specifications;
 - viii) Drawings;
 - ix) Bill of Quantities; and
 - x) Any other documents listed in the Contract Data as forming part of the contract.

18123

In witness whereof the parties thereto have caused this Agreement to be executed the day any year first before written.

The Common Seal of	Divisional Account Officer	Executive Engineer RMD Works Division
Was hereunto affixed in the	R.W.D.(W) Div. Banka-1 presence of:	TO BANKA-1
Signed, Sealed and Delivered	by the said	
In the presence of:	Mint	A 718123
Binding Signature of Employe	Divisional Adcount Officer R.w.D.(W) Div. Banka-1	Executive Engineer
Binding Signature of Contrac	tor अनुकार का परि	71823 11823

BIHAR RURAL ROADS DEVELOPMENT AGENCY (GOVERNMENT OF BIHAR)

BID DOCUMENT

FOR

CONSTRUCTION AND MAINTENANCE OF RURAL ROADS

DISTRICT: Banka

BLOCK: Shambhuganj

SI. No.	Name of Road	Length In Km	Cost of Const. (Rs. In Lakhs)	Maintenance Cost (Rs. In Lakhs)
	Package No MR-N/23-2	4 Banka-1	/01	
1.	Mirzapur Kiranpur Road to Patwara tak	1.490	5392292	1470409
2.	Shambhuganj Kaitha PMGSY Road to Sahadevpur	1,484	5046526	1746472
3.	Mirzapur Chutiya to Shyampur Dha a L045 tak	0.585	2720973	559451
Total			13159790	3776332

Financial Bid Tear 2023-24

Under M/R Head 3054

MINISTRY OF RURAL DEVELOPMENT GOVERNMENT OF BIHAR

- मिरेश कार No

Divisional Account Officer R.W.D. (W) Div. Banka-1 Executive Engineer RW.D. Works Division

Contractor's Detail

Agreement No. -

Name of Work - MR-N/23-24 Banka-1/01

Name of Contractor - Anil Kum ir Singh

Address - At-Babutola, Anchal+Dist-Banka, Bihar, PIN- 813102

Registration No. - 1190279

Pan - AISPS7033H

GST - 10AISPS 133111Z4

Bank Account Details :-

Name of Bank -

Account No. -

IFSC Code -

Mobile No. - 7782906600

Email ID – anilkumarsingh20211@gmail.com

Divisional Account Officer R.W.D.(W) Div. Banka-1 Executive Engineer
R.W.D. Works Division

कारिश काम गर

UNDER MR-3054

BILL OF QUANTITIES (BOQ) - CONSTRUCTION

Name of Shambhuganj Kaitha PMGSY Road To Sahadevpur

Road :

Block : Shambhuganj

District:

Banka

Length: 1.484 km

SI. No.	Description of Items	Unit	Qty.	Rate (Rs.)	Amount (Rs.)
1	Clearing and Grubbing Road Land (By manual means) including uprooting wild vegetation, grass, bushes, shrubs, saplings and trees of girth upto 300mm, removals of stumps of such trees cut earlier & disposal of unserviceable materials & stacking of serviceable materials to be used or auctioned upto a lead of 1000 m including removal and disposal of top organic soil not exceeding 150mm in thickness as per technical specification clause 201.1 and direction of IE/I	Hect.	0.30	75573.34	22672.00
2	Construction of subgrade and earthen shoulders with approved material obtained from borrow pits with all lifts and leads, transporting to site, spreading, grading to required slope and compacted to meet requirement of Table 300.2 with lead upto 1000 m as per Technical Specification Clause 303.1.	Cum	785,28	264.21	207478.83
3	For Grading II Material-Construction of granular sub-base by providing well graded material, spreading in uniform layers with motor grader on prepared surface, mixing by mix in place method with rotavator at OMC, and compacting with smooth wheel roller to achieve the desired density, complete as per Technical Specification Clause 401.	cum	35.45	2232.66	79147.80
4	WBM Grading 2 (By Mechanical Means) -Providing, laying, spreading and compacting stone aggregates of specific sizes to water bound macadam specification including spreading in uniform thickness, hand packing, rolling with three wheel 80-100 kN static roller in stages to proper grade and camber, applying and brooming, crushable screening to fill-up the interstices of coarse aggregate, watering and compacting to the required density Grading 2 as per Technical Specification Clause 405.	Cum	22.78	4380.11	99778.91
	WBM Grading 3 (By Mechanical Means) -Providing, laying, spreading and compacting stone aggregates of specific sizes to water bound macadam specification including spreading in uniform thickness, hand packing, rolling with smooth wheel roller 80-100 kN in stages to proper grade and camber, applying and brooming, stone screening to fill-up the interstices of coarse aggregate watering and compacting to the required density Grading 3		45.57	4229.37	192732.39
	as per Technical Specification Clause 405. Prime Coat (Low porosity)-Providing and applying prime coat with Bitumen emulsion (SS-1) on prepared surface of granular base including cleaning of road surface and spraying primer at the rate of 0.70- 1.0 kg/sqm using mechanical means as per Technical Specification Clause 502.	r f d	607.60	60.77	36923.85

mhon om la

Executive Engineer R W.D. Works Division BANKA-1

SI. No.	Description of Items	Unit	Qty.	Rate (Rs.)	Amount (Rs.)
16	Printing new letter and figures of any shade with synthetic enamel paint black or any other approved colour to give an even shade as per drawings and Technical Specification Clause 1701	per cm height per letter	176.00	0.75	132.00
17	Planting of trees by the road side (Avenue trees) in 0.60 m dia holes, 1 m deep dug in the ground, mixing the soil with decayed farm yard/sludge manure, planting the saplings, backfilling the trench, watering, fixing the tree guard and maintaining the plants for one year	Each	90.00	1288.76	115988.40
18	Road Marking with Hot Applied Thermoplastic Compound with Reflectorising Glass Beads-Providing and laying of hot applied thermoplastic compound 2.5 mm thick including reflectorising glass beads @ 250 gms per sqm area, thickness of 2.5 mm is exclusive of surface applied glass beads as per IRC:35 .The finished surface to be level, uniform and free from streaks and holes.		A)		159562.80
1	50000 = 0.000 - 8	Sqm	180.00	886.46	117424.88
	At Edge for BT Portion At Edge for CC Portion	Sqm	116.80	1005.35	11/424.00
19	with Logo as per MORD specifications and drawing. MS Plates of 1.6 mm thick, top and middle plate duly welded with MS flat iron 25mm x 5m size on back on edges. The lower plate will be welded with MS angle iron frame of 25mm x 25mm x 5mm. The angle iron frame of the lower most plate and flat iron frame of middle plate will be welded to 2 nos. 75mm x 75 mm of 12 SWG sheet tubes posts duly embedded in cement concrete M-15 grade blocks of 450mm x 450mm x 600mm, 600mm below ground level. The top most diamond plate will be welded to middle plate by 47mm x 47mm of 12 SWG steel plate tube. All M.S. will be stove enameled on both sides. Lettering and printing arrows, border etc. will be painted with ready mixed synthetic ename paint of superior quality in required shade and colour. All sections of framed posts and steel tube will be painted with primer and two coats of epoxy paint as per drawing Clause 1701 and Annexure 1700.1	el	5.00	11544.74	57723.70
	Providing and laying of a reinforced cement concrete pipe duct, 300 mm dia, across the road (new construction), extending from drain to drain in cuts and toe of slope to toe of slope in fills, constructing head walls at both ends, providing a minimum fill of granular material over top and sides of RCC pipe as per IRC:981997, bedded on a 0.3 m thick layer of granular material free of rock pieces, outer to outer distance of pipe at least half dia of pipe subject to minimum 450 mm in case of double and triple roughly ducts, joints to be made leak proof, invert level of duct to be ducts, joints to be made leak proof, invert level of water and level to prevent entry of water and level to be supplied to prevent entry of water and level to be supplied to prevent entry of water and level to be supplied to the level of the level	ow ee			
	ducts, joints to be made leak proof, invertices a above higher than ground level to prevent entry of water a dirt, all as per IRC: 98 - 1997 and approved drawings.	Sec.		1076.76	32302.80

sylve author

Executive Engineer
R W.D. Works Division
RANGA-1

SL No.	Description of Items	Unit	Qty.	Rate (Rs.)	Amount (Rs.)
36.11	Parapet				
21	Plastering with cement mortar (1:4) on brick work in sub- structure as per Technical Specifications	Sqm	40.32	207.54	8368.01
22	Painting two coats including primer coat after filling the surface with synthetic enamel paint in all shades on new, plastered / concrete surfaces as per drawing and Technical Specification Clause 1701	Sqm	40.32	137.83	5557.31
				Total =	4670311.03
		Labour cess @1% =			
				GST @18% =	840655.98
	Add Seigniorage Fee @ 10%				
	Total (A) =				
22	5 YEAR ORDINARY MAINTENANCE COST	Quarterly	20	81364.18	1627283.50
23	23 5 YEAR ORDINARY MAINTENANCE COST Quarterly 25 Labour cess @1%:	our cess @1% =	16272.84		
		GST @18% =			292911.03
	Add Seigniorage Fee @ 10%				
_	Total (B) =				
	Grand Total Cost (A+B) =				

Say Pr. 75, 47, 776 = 01

29/5/23

Executive Engineer R.W.D.Works Division

BAHKA 1

B.O.Q. (item no. 01 to 23) approved for Ry75,47.776.00 Severly - five label forty Sever thoroand Sever hundred Severly six only?

Superintending Engineer Rural Works Department Works Circle, Bhagalpur

an Any Don (NE